EARAZROREIERT — 2 N— XBISY —F 20195128318 (A) 15[ KFH6H

mﬂﬁ%Zﬁ 145F¢L EEE R
[xE4£] 1 %:2,100,000 @ ~ 2 3% :840,000 @ 3 37%&:525,000 @ ~ 4 3#&:315,000 @ ~ 5 7 :210,000 M
B B BEBR M HE BF (F8) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
— o — SEEK 144, -11-8- . - EEBIK (KFH)
B F4—TAOF 1 — 4 2 oo 1(4_4)4 10-11-8-8 | 41.0 10 (4+317) L)
R:Fq—=TTVI 7 BYFINLLE2A NZZXRIY =T 7—L
— AR5 144, —-0-5- . = REAR (ffg)
217112 v/ A0F ¢ 4 2 54.0”: 1(424)8 8-9-5-5 | 41.7 4 (4_535) ZEJE??%B%
R:BALINT Ry IX B:HA4F7A hRT 1 &2 145
EENIEREN f o2 | REEE 1:45.3 9-8-7-7 | 42.0| — 14 | 454 |HAK—K (KH#)
] > Pl 54.0 (2 1/2) (-5) | FEH—E
R:7RYS ¥ L—> B:TFILKS RO%%
. 23] : —10-9- = HEZERR (#A15)
4l5|g|7vF-—%>zV 2 on (13.416/.20) 13-10-9-8 | 42.5 11 (3_837) st A
RiFAVTTTLRE ARy —H BEEZ %Y K
. VN EDN 146. -1-1- . - FOZF (EM)
5111 |7 vR o2 54.0 1(426)4 L e ° (ﬁi) A RRK
R:NZ—ka1—X B:=Zy /L4237 RS All%S
S O i 2 | AKX 1:46.5 6-7-14-13 | 42.8 | — 9 441 | SWEEME (V)
617111 ho/AHI A51.0 (1/2) (5) | 1EAH
L:A—-Xx>T4L B:T7TVITIRR pail=:Ese]
HEil . _6-6— — HRIEA ()\#K)
7157 |=EDLF i 2 i 1(/1\%;;5 7-6-6-6 | 43.6 1 (4_616) e g5
L:8—bMIVKYI BT78F AT BRT77— LA
s # 2 | BRAE 1:46.6 14-14-11-11| 42.7 | — 12 426 | SIEER (KH)
sl 4| ¥/ %053.0 (172) Gy | St
L:hxeFx) B hIAYCNYE-— WA 57
. . EEXK 146. -12-12- . - HHE— (K3H)
9813 NS L 4 2 a0 1 (416)8 11-12-12-12| 43.1 7 (4_361) Eﬁz—ﬁﬂ
R:ANTr—F B:YALT—I e}
[ippe ] :46. ~4-4- . — HFRIEA (/\Hh)
ZYANINT 20 Gy | TN S I R P
RHIRTA ISR BeEYIH-—FT4T HIAZREY b
N FEMEER 146. -3-3- . — KHEE (MaHE)
AL w2 | g eI Iaa il R Nl I il i
x4 avR—-5— B:NFO-X BFRILA%S
S o, =55 )13 : -0 = BEFME (K3H)
F—LILI—X 4 2 &% (11.417/.3 2-2-2-2 | 44.6 5 (4:374) i
R4 T*ATv— BIRXRTT ESde ]
— N LEIER : -13-9- - TR EAL (AafB)
FLTLAY i 2 i 1.(447).9 12-13-9-10 | 44.5 6 (fi) EH&?E} i
LA Lk—L BX1INERZ Exapse]
= . AHIES :51. =5alee . — dEFE (k)
eI B R Ee sl o B I -5
R:pHL>TS9oel BTIT7ITIN—<—F WARKE
@ 1 — @B
1T=7r= 1,6,10,9,3,11,7,12,2,5,13,14,8,4
2a=5F= 1,6,10,3,9,7,11,2,12,8,5,13,14,4
Ja=9= 1,6,10,3,12,7,2,5,(8,14) ,4,13,9,11
43—+ — 1,6,10,3,12,7,2,(5,8) ,14,4,13,11,9
[ /N
BB 5 5,440 714K 5-12 3,310 e E 4-7 2,850 JEE 2-5-12 441,850
B B 5 1,320 2= 20,480M e B 4-7 6,340 3B 5-12-2 3,680,210/
12 390H 2-12 25,730H B & 5-12 13,760
2 7,380 B H 5-12 36,720M

ARICOVWTRDTEEERROODE. TR LI,



